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1.0n a Nexus 5000 Series Switch, when a VFC is not online, what are the causes? (Choose three.)
A. LLDP transmit and receive are disabled

B. The initiator server has no connectivity to the target storage

C. FIP negotiation timing

D. Peer does not support LLDP

E. VSAN trunk protocol has been enabled

Answer: A,B,D

2.Which two statements about Fibre Channel Class 2 are true? (Choose two.)
A. Fibre Channel Class 2 provides a connection-oriented class of service.

B. The F_BSY frame is part of Class 2.

C. Class 2 acknowledges frame delivery.

D. BB_Credits do not exist in Class 2.

E. Dedicated bandwidth is allocated when using Class 2.

Answer: B,C

3.Refer to the exhibit.

configure terminal

vlan 100

interface wvlan 100
ip address 10.10.100.1/24
no shutdown

The interface remains in a down state after entering the command that is shown in the exhibit. What is the
cause of the problem?

A. The feature interface-vlan command must be configured.

B. The VDC contains only F1 interfaces.

C. There are IP address conflicts.

D. The VDC is “type OTV.”

E. The command copy run start was not entered.

Answer: B

4 Refer to the exhibit.

nexuzh000—-=zand¥ configure terminal

nexustlll-=zanA({config) ¥ fex 101

nexuz=hi00l-zanA{config—fex) # fcoe
nexusblll-zanA(config—fex) # interface vic 1
nexuzh0i00l-=zanA{config—if) # bind interface ethernet 10111
nexushlll-zanA(config—1if) #no shutdown

Which option describes the capability that the FCoE setting allows?
A. configures the FEX to send FCoE traffic only to this switch
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B. allows mapped VLAN-VSAN traffic to reach the FEX
C. configures FEX for A-B SAN capabilities
D. allows interface Ethernet 101/1/1 to exchange DCBX information

Answer: A
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